
Aufgabe 1a
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Aufgabe 1b_1 bis 1b_4

1b_1

Füllmenge pro LKW in m3
6,16,05,95,85,75,65,55,4 6,2

1b_2

Füllmenge pro LKW in m3
6,16,05,95,85,75,65,55,4 6,2

1b_3

Füllmenge pro LKW in m3
6,16,05,95,85,75,65,55,4 6,2

1b_4

Füllmenge pro LKW in m3
6,16,05,95,85,75,65,55,4 6,2



Aufgabe 1c
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Aufgabe 2d_1
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Aufgabe 2d_2 bis 2d_6
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Aufgabe 3a
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Aufgabe 3b



Aufgabe 4a
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Aufgabe 4b_1

Aufgabe 4b_2
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Aufgabe 5a

18016014012010080
Blutdruck in mmHg

Bluthochdruck



Aufgabe 6a

Aufgabe 6b
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Aufgabe 6c



Aufgabe 7a
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Aufgabe 7c



Aufgabe 8a
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